Math 157 - Quiz 3 Name 1<e5
September 4, 2013 Score

Show all work to receive full credit. Supply explanations when necessary.

1. (2 points) Use a table of values to guess the limit. Your table should include at least
six different values of the function near the limit point. (_\_ - .L.\
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2. (1 point) Evaluate the limit analytically:  lim
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3. (1 point) Explain why lin}) %—sl does not exist.
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4. (2 points) Evaluate the limit analytically: lir{ll gﬁ# = \K(\/{ ( /X‘\’\}i&?ﬁi}
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5. (1 point) Explain why lim does not exist.
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6. (1 point) Suppose lin% f(z) =8. Find lin% 10 v/ f(z).
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7. (2 points) By sketching the graph or making a table of values, estimate the limit.
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